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(COMMERCE)

1. Closed economy is one in which

(A) only exports take place.

(B) neither exports norimports take place.

(C) money supply is fully controlled.

(D) exchange rates are under the full
control of the Government.

2. The Foreign Exchange Management Act
(FEMA) 1999 came into force on

(A) 1st May, 1999
(B) 1stJune, 1999
(C) 1st October, 1999
(D) 1st June, 2000

3. What is Green Washing?

(A) Transforming products to be more
ethical.

(B) Making products appear more ethical
than it really is.

(C) Converting the company to green
production methods.

(D) Convincing the customers to buy
ethically.

4. What 1is the first step in the
internationalisation process?

(A) Foreign Investment
(B) Export

(C) License

(D) Sales

5. Factor endowments theory of international
trade is also known as

(A) Theory of Absolute Advantage
(B) Hecksher Ohlin Theory

(C) Theory of Mercantilism

(D) Theory of Comparative Advantage

1. % LS 257 G LS T T2y G 2o
(A) wyg i =7 |
(B) I Al S1smif 231 =1 |
(C) =gl srararE s~spefanest fafEs |
(D) fRfesm 2 sTaicas sTspel fmaeli@e |

2. FEMA 9739, 1999
(A) 1st May, 1999
(B) 1st June, 1999
(C) 1st October, 1999
(D) 1st June, 2000

-€ IR =7 |

3. RS @ Fie

(A) 21Tl SIRe Fies 2o Telee
4|

(B) warefel gFescs Toxi wies 20
AN O (AT @ o i ewife
4|

(C) @I 7qE Sesiime siaferse
TS F1 |

(D) ARFWAE (oI fFace e F41 |

4. SEfedaad e e iele Jie
(A) AR R&feciel
(B) 7
(C) =2e™
(D) R&w

5. WEEIeF NS FFT GTCISET oG
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6. Foreign Direct Investment (FDI) and
Foreign Institutional Investment (FII) are distinct
in terms of the following:

(A) FDI targets specific sectors and FII
helps in foreign capital availability.

(B) FII is considered more stable.

(C) Flltargetsboth primary and secondary
market while FDI targets only primary.

(D) FDI brings capital and technology
while FII brings only capital.

7. Match the items of List-I with the items of
List-1I and choose the correct answers from the

code given below:

List-1 List-11
(a) Balance of trade (i) Importsandexportsof
goods and services and

unilateral transfer of

goods and services
(b) Current Account (ii) Transactionrelatingto
changes in financial
assets and liabilities of
a country
All economic
transactions between a
country’s residents
and residents of other
countries
Value of exports and
imports of a country

(c¢) Balance of
Payments

(ii1)

(d) Capital Account (iv)

Codes:

@ @B © @
(A) (v) (1) i) (D)
B) (i) G Gv) (@)
© O G @) o Gv)
D) Gv) Gy G @)

X4

6. 2orF fqoel ffacnst (FDI) @3k Reasit
aifssifs [face (FII) FaRkeba st
eIl

o
o

(A) FDI @8 e o7 @ @R FII
Rl e dlivirel Jfacs =Ry

|
(B) FII-= Wt f3feNer a1 Reava <t
23|

(C) FII diegfis @R Mg Tog e
T (3 I49 FDI wyig =i
eGP THI(@l P |

(D) FDI % & @z #3f& W et Siommes
FII (&<eTiig #ffer e i |

7. Offae-1-93 SoAmmelE ©fFeI-a3
Toimielr A e &9 9k Tos @e @
o Teawf @z e ¢

w1
(a) JificeTa SNy

GEa |
(i) o1 @ CIAIF Smife @
AR G2% 7oy € A
GO TG
(i) @I oo onfefs
T GR AT ARRS R
e FIFS @
(c) fFeeii@ 2o (iii) @< eea b @)
S (reE AifeE
iR g AT

o e~
AP (T

(b) veIfe 2o

(d) & =R (v) I @R [ @
RIbGICER Gl
1T ¢
@ () (© (@
(A) Gv) (1) (i) (i)
B) Gi) @G Gv) (@)
© @ Gy aGi) (@GQv)
D) Gv) @) G @)



8. In which of the following types of regional
economic integration are internal tariffs eliminated
with member countries levying acommon external
tariff on goods being imported from non-members?

(A) Free Trade Area

(B) Common Market

(C) Customs Union

(D) Complete Economic Integration

9. What is the new name of NAFTA?
(A) NAETA
(B) USMCA
(C) USCMCA
(D) CUSMA

10. Which one among the following options, is
not the objective of WTO?

(A) To protect environment

(B) To improve Balance of Payments
situation of the member countries

(C) To improve the standard of living of
the member countries

(D) To enlarge production and trade of
goods

11. Match the following items of List-I with
that of Lisz-1I and select the correct option:

List-1 List-11
(a) Consistency (1) Income is measured
Concept and financial position is

assessed.
(b) Going Concern (ii) Anticipate no profit
Concept and provide for all
losses.
(c) Conservatism (iii) Accounting is done
Concept assuming indefinite life
span of business.
(d) Matching (iv) Comparison of

Concept accounting results of
different period is
ensured.

Codes:

@ O © @
A) Gv) (@) () (1)
B) Gi) @ (Gv) (i)
© Gy () aGv) @)
D) ) @ >Gv) i)
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8. ANBA &I R T L oT AR
(2 STSTET I & % (S A (T S-S ia
(LTS ST 1 AT ToAg @(6 Al A w5
A A ?

(A) & ey Go1=!

(B) T W6

(C) ST Tefa

(D) e Ttafes aFwael

9. NAFTA-43 =g« I Fi 2
(A) NAETA
(B) USMCA
(C) USCMCA
(D) CUSMA

10. fsfTie Renelr weg @@ WTO-93
Sl 7372
(A) AR T 41
(B) 9% (M¥&feT SLfAWitd S
(C) 7 (% feTa SI==Iai ST Tae 41
(D) 2ol Beolme @ ifefey el

11. List-1-99 item-%f&4 A List-11-97 item-
wfeTg flereae g Mova Remwfrm sy @ 7

T fue ¢
List-1 List-11
(a) Consistency (1) Income is measured
Concept and financial position is

assessed.
(b) Going Concern (ii) Anticipate no profit
Concept and provide for all
losses.
(c) Conservatism (iii) Accounting is done
Concept assuming indefinite life
span of business.
(d) Matching (iv) Comparison of

Concept accounting results of
different period is
ensured.

(PTG :

@ @O (© @
A) Gv) (@) () (1)
B) @Gi) @)  (Gv) (i)
©) Gy () aGv) @)
D) ) @ >Gv) i)
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12. X and Y are partners in the firm. They
withdraw @ of 1,500 and¥ 1,200 respectively on
15th day of every month for all the twelve months
starting from April 2022 to March 2023. Interest
ondrawing is chargeable @ 10% per annum. What
would be the amount of interest for X and Y during
the financial year 2022-23?

(A) ¥ 900 and X 600
(B) ¥ 1,800 and X 1,200
(C) 990 andX 792

(D) T 1,170 and T 780

13. Intheeventof internal reconstruction of the
company, if shareholders surrender their paid-up
shares, then share capital account is debited to

(A) Capital Reduction Account
(B) Capital Reserve Account
(C) General Reserve Account
(D) Shares Surrendered Account

14. S Ltd. has issued and subscribed capital of
100000 equity shares of ¥ 10 each. The current
market price per share is3 22. HLtd. acquires 70%
of shares of S Ltd. at% 16,00,000. The consideration
is payable in cash. The fair value of identifiable net
assets of S Ltd. is ¥23,50,000. Then the amount of
Goodwill/Gain on bargain purchase in the
Consolidated Accounts will be

(A) Gain on bargain purchase I 90,000
(B) Goodwill % 90,000

(C) Goodwill% 7,50,000

(D) Gain on bargain purchase ¥ 7,50,000

12. X @R Y 30 P o SRAMIE | Sit
2022-23 wifds qgc@ IWEFE 1,500 BIF @33
1,200 B f&oiica 2fs siere 15 wifsd it (A
e (Drawings) FECZ| Sreifere IR EIE ]
I 10% 203 7 4 4127 12022-23 ST T=d
X @3R Y-43 Drawings-43 S#3 97 0 Z(J ?

(A) 900 B @32 600 BIF
(B) 1,800 511 @R 1,200 Bil
(C) 990 Bl @3k 792 BiFl
(D) 1,170 5IF @3 780 BIFl

13. sreTede 9953 Tw3  (Internal
Reconstruction ) 5 IW @r=oiifed <171 @=siasiel
SR ARCAITES (Paid-up) G Aol 0, ST,
share capital account (BRG T 21

(A) Capital Reduction Account-¢
(B) Capital Reserve Account-4
(C) General Reserve Account-¢

(D) Shares Surrendered Account-

14. S Ltd.-99 issued @R subscribed 3T«
@itz 100000 2P0 <1, A7 &fs R )
%1 10 Il | S Lid.-49 &fsf csiaicarsr <8 e
&7 281 22 BIsel | H Ltd. 16,00,000 GBI S Ltd.-~4%
70% TR Sfezel FACET | SfEARER 6T T9m
e 2e1| S Ltd. 9% *Areseiciay " Arifes
AR 21 23,50,000 GiFFl | GTeFc@ Consolidated
Accounts-4 Goodwill/Gain on bargain purchase
A

(A) Gain on bargain purchase 90,000 BIF
(B) Goodwill 90,000 5=t
(C) Goodwill 7,50,000 B!

(D) Gain on bargain purchase 7,50,000
i<l



15. XYZ Ltd. went into liquidation on
March31,2022. Onthatdate, ithad sundry creditors
0f ¥ 5,00,000. The break-up of sundry creditors is
as follows:

Outstanding wages and salaries < 1,00,000
Income Tax dues < 50,000
Municipal Tax dues < 25,000
Salary due to the Managing Director I 20,000
Amount of Trade Creditors < 3,05,000
Amount of Preferential Creditors of the

company—
(A) ¥ 1,70,000
(B) ¥ 1,75,000
(C) %2,00,000
(D) ¥ 1,95,000

16. What does a high payout ratio indicate?
(A) A high earning per share

(B) Themanagementisnotploughing back
high amount of profit.

(C) The company is earning high profit.

(D) The market price of share is rising.

17. Given below are two statements, one is
Assertion (A) and the other is Reason (R):
Assertion (A) : Acceptance of the special
order at low price should
be kept secret.
: The other customers may
demand a similar low price.

Reason (R)

Choose the correct option:

(A) Both(A)and(R)are true, and (R) is the
correct explanation of (A).

(B) Both(A)and (R) are true, but (R) is not
the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

X-7

06-11

15. XYZ Ltd.~93 eenemgs 23 31094 Wb,
2022-9 | @ Sift2 sundry creditors-a< #Ife et
5,00,0005 | f&feq sireamiama cifdfeis fammst ¢

Outstanding wages and salaries 1,00,000 DRl
Income Tax dues 50,000 BI<st
Municipal Tax dues 25,000 BI<et

Salary due to the Managing Director 20,000 Gl
3,05,000 BRI
@114 Preferential Creditors-<43 #ifzse

Amount of Trade Creditors

Egl
(A) 1,70,000 Gl
(B) 1,75,000 Gt
(C) 2,00,000 Gt
(D) 1,95,000 Gl

16. @35 T ARl S 2I® (high payout ratio)
Jt o a2

(A) T3 2fS T =i |

(B) #5519 B 2T NI 2wz
A=A 1 |

(C) @i T 2ITH I TS T |
(D) C<RICER A o THIA |

17. S @3 [ (A) =7 93 F&(R) e
TR ¢

[RFe (A) ¢ =% W@ K93 order &ReE
ISERIEI QI CEISIREIC

& (R) 2 SN (ol Sznsl 1 71
wifK FACS A& |

s 15 (2 Afos Teafb foive e ¢

(A) (A) @3: (R) 762 A=, @3k (R) {3fe
(A)-97 A% & |

(B) (A) @k (R) f62 i3, 7 (R) f4qf
(A)-93 5= gfe 771

(C) (4) =, (R) 7Mo% 73|

(D) (A) M= 77, (R) A= |

[ Please Turn Over ]



06-11

18. Match the following items of Lisz-I with the
items of List-II and select the right option:
List-1 List-11
(a) IND AS 102 (i) Operating Segments
(b) IND AS 103  (ii) Business Continuation
(c) IND AS 109 (iii) Financial Instruments

(d) IND AS 108 (iv) Share-based payment

Codes:

@ ® @© @
(A) Gv) @) @) @)
B) Gi) (1) @Gv) (D)
© @Gy @G Gv) @
D) Gi) @@ (@v) (i)

19. Propriety Audit refers to
(A) Verification of Accounts
(B) Examination of accounts of sole
proprietorship business
(C) Audit of Government companies
(D) Enquiry about justification and
necessity of expenses

20. SA 300 deals with
(A) Planning and audit of Financial
Statements.
(B) Forming an opinion and reporting on
Financial Statements.
(C) Qualified Report.
(D) Disclaimer of opinion.

21. In terms of the indifference curve analysis
a consumer will attain equilibrium when

(A) the budget line is tangent to the
indifference curve.

(B) the indifference curve has a positive
slope.

(C) the indifference curve has a negative
slope.

(D) the budget line is tangent to the
indifference curve while the
indifference curve is convex to the
origin.

X-8

18. List-I-93 item @9 Al List-11-437 item
e feread s Nove el @ A
Taq fol 4o 3o ¢

List-1

(a) IND AS 102

(b) IND AS 103

(c) IND AS 109

(d) IND AS 108

List-11
(i) Operating Segments
(i1) Business Continuation
(iii) Financial Instruments
(iv) Share-based payment

(1T :

@ ® © (@
(A) Gv) @G @) @)
B) Gii) (1) (@Gv) (i)
(C) Gy @Gy aGv) @)
D) () @ @>dv) (i)

19. Propriety Audit 957C9 (T
(A) =oNtER AibiRwRel
(B) &% WfeTide o1 219 1S
(C) swifa @riifag i
(D) IET WSl IR TRHFS! T/

20. SA 300-93 Razae 2@
(A) s ez e i sifawsm |
(B) =nfef fRa=@l seife Srolsre o1 @3k
Ei&iE
(C) Qualified Report.
(D) Disclaimer of opinion.

21. FReeRREdl ReaaeR Sam 96w (ol
SRAIGY (=1 T4
(A) e @2 Faeers @b e =«
Bl
(B) Tzt @4ia v «eiierss 21|
(C) Tzt @17 viF 27 el |
(D) ATEH @2 Fwers @ g =

2 ¥4 w9l erfea et
Tes (convex) = |




22. Ifthe production function of a firm is given
by Q = 8LK — K? — L2, the marginal product of
labour input (L) will be

(A) 8K-2K
(B) 8K-2L
(©) 8K

(D) 8-2K-2L

23. If two goods are complementary to each
other, then the cross price elasticity of demand will
be

(A) zero

(B) negative
(C) positive
(D) infinity

24, operates, when the percentage
change in outputis less than the percentage change
in inputs.

(A) Increasing returns to scale
(B) Decreasing returns to scale
(C) Constant returns to scale.
(D) Variable returns to scale

25. The relation between average cost (AC)
and marginal cost (MC) is that
(A) they are parallel to each other.
(B) they are perpendicular to each other.
(C) they have a common point.
(D) they are not tangent to each other.

26. Suppose,P=20-4xisthe demand function
of a monopoly firm while 4x = C is the cost
function of that firm. In such a situation, the profit
maximizing level of output of monopolist will be

(A) 1 unit

(B) 2 units
(C) 3 units
(D) 4 units

06-11

22. I @I Teotive 2AfSDI Sesiiie SCorwh
23 Q=8LK — K> L2, ©iz(s #(7 2fIf$F Seowe(L)
26

(A) 8K -2K
(B) 8K -2L
(C) 8K

(D) 8-2K -2L

23. {0 %3y I %1979 complementary T3, O12(5
(A) *I=7 (0)
(B) AlrS1< ()
(C) == (+)
(D) S (o0)

24, PRI T, T CACTT * S|
ARTIET T =e<l ARIS @ (AT T |
(A) TG 2SR CF0a
(B) TP Afewitd CFea
(C) %35 dfenitd ¢Fea
(D) “AfSa=iet 2fonia ¢Fea

25, °I% 7 Gk AfESF W@ & A6 257
(A) G HTICER AT ANGHIA |
(B) A1 AT @l o7 |
(C) SItma @ el /ey =iz |
(D) Sl ATATER A (< 77 |

26. W T, GG GFGA FRAAE bifEal
@ T P = 20 - 4x QIR OF I SCATFE 28
4y = Cl 92 IR GFGEOA FAGT T
a0l TesAmeR SAfFee 2@

A) 19
B) 2 @
©) 3 9=
D) 4 @

[ Please Turn Over ]



06-11

27. The concept of “Kinked demand curve” is
found to be relevant under
(A) monopolistic competition
(B) monopoly market
(C) oligopoly market
(D) perfectly competitive market

28. The cost and the revenue functions of a
profit maximizing firm are
C=0Q%-59Q? + 1315Q + 2000 and
R = 1000Q — 2Q? respectively. The profit
maximizing level of output of the firm will be
(A) 3 units
(B) 10 units
(C) 15 units
(D) 35 units

29. The concept of shut down point in
Economics is relevant under

(A) oligopoly market

(B) perfectly competitive market

(C) monopolistically competitive market
(D) monopoly market

30. A discriminating monopolist intending to
sell his output in two markets A and B, notes that
eA < eB. In this case which of the following
relationships will hold good?

(A) PA>PB
(B) PA<PB
(C) PA=PB
(D) PA ="2PB
Here P is price.

31. An important characteristics of the Euro
currency market is that loans are made on a

(A) Fixed-rate basis
(B) Floating-rate basis
(C) EitherFixed-rate or Floating-rate basis

(D) Mixture of Fixed-rate and Floating-
rate basis

X-10

27. ‘@1Ige vifenl @2 qiEen® ey =@
(A) @0 AT et
(B) «Fw ISR
(C) feralieifer qrenica
(D) st efsriftonE= s

28. IR AR G FIET T @ A
7o IAFE C = Q° — 59Q% + 1315Q + 2000 €
R =1000Q—2Q? | N il Fffeasrael Sestmera
AR 203

(A) 3 9%
(B) 10 @<
(C) 15 9
(D) 35 4

29, LIfoTs “Tesive Fema g argenfS aicarey
=

(A) Sfaliolfer Areica

(B) “efiet aiferaifrones areia
(C) @A efsriforeye s el
(D) Q@A AR

30. GG [ AonIEl GIG0A IEIE O
TN A @3} B @2 16 e e s sfeaim
T I (@ eA < eB (e = bifznid Rfogieme) | @3
SR AR TS w0y (G IR 7@ 2

(A) PA>PB
(B) PA<PB
(C) PA=PB
(D) PA =%PB
@I P = i |

31. 3T Wl G @I wwgel @Y 2=,
Aejesfor amiq 1 =W
A) RIFe qET fofere
(B) MW Qa< fofers
(C) f2fiTe 27 w2dl S S fofers
(D) BIFT TEFI GIR SO 2T
R fofers
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32. A discounted cash flow technique better
adopted to accommodate the unique aspects of
evaluating foreign projects is known as

(A) Internal Rate of Return (IRR)
(B) Net Present Value (NPV)

(C) Adjusted Present Value (APV)
(D) Profitability Index (PI)

33. Match the items of List-I with those of
List-1I and indicate the correct code:

List-1 List-11
(a) Modigilani Miller (i) Commercial Papers
approach
(b) Economic Value (ii) Working Capital
Added Approach Management

(c) Short-term money (iii) Capital Structure
market instrument

(d) Factoring (iv) Value Based

Management

Codes:

(@ b (© (@
A) Gv) G @) ()
B) Gi) Gv) @ (i)
© ai) G @ ((v)
D) @ G G Gv)

34. Which of the following is an unsecured

promissory note issued by a firm to raise funds for
a short period?

(A) Bill of Exchange
(B) Commercial Papers
(C) Depository Receipts
(D) Letter of Credit

35. The cost of equity capital of a firm is 16%.
If market rate of return is 15% and risk free rate of
return is 10%, then what would be the value of
firm’s beta (3)?

(A) 107
(B) 1-60
(©) 1-50
(D) 120
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32. R 2peE S e fers SeniaeEa o
TABIGCOT 79 2412 (discounted cash flow) 2I&fS
Jt 7 AAffoee

(A) SrerEd 61 29 (IRR)
(B) 16 934 =T (NPV)

(C) SHITHIPET IS T (APV)
(D) =ewIarel 5 (PI)

33. List-1 938 List-I1-93 =306 fSiew med
HAGFCIE TS (@O W T ¢

List-1 List-11
(a) Modigilani Miller (i) Commercial Papers
approach
(b) Economic Value (ii) Working Capital
Added Approach Management

(c) Short-term money (iii) Capital Structure
market instrument

(d) Factoring (iv) Value Based

Management
(T
@ ® @© @
(A) Gv) (@i (1) (D)
B) Gi) Gv) () (D)
©) i) Gy @ Gv)
D) @ () @) o (Gv)

34. Twa @G T AR A& 02 AR
ey G0 T il wif w1t G0 SrEfEe afowss
Aq?

(A) =% (Bill of Exchange)

(B) 3fdfersaisie=i@(Commercial Papers)
(C) fersfenfaatm (Depository Receipts)
(D) A99@ (Letter of Credit)

35. @6 WW JETHS e R (cost
of equity capital) Z&1 16% | T Areicaa Ko 2=
15% @& [Ha ITe 29 = 10%, Oz T
G (B)-93 S F© 21 ?

(A) 107
(B) 1-60
(©) 150
(D) 1-20
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36. Which of the following method ignores the
time value of money?
(A) Discounted pay-back period
(B) Internal rate of return
(C) Accounting rate of return
(D) Profitability index

37. Ifthedividend payoutratio of acompany is
70%, return on investment is 15% and cost of
capital is 12%, then what should be the growth
rate?

(A) 45%
B) 56%
©) 84%
(D) 10:5%

38. As per Pecking Order theory, for financing
of business, a company’s last preference is

(A) Retained earnings

(B) Borrowed capital

(C) Equity capital issue

(D) Bothequity capital issue and retained
earnings

39. Operating leverage and Financial leverage
of afirm are 3 and 2 respectively. If sales increase
by 5%, then earning before tax will rise by

(A) 30%
(B) 18%
©) 12%
(D) 36%
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36. TR @I FRSH ST T T Seorw
A
A) TAPIGCDT (21-T7IF FANIFIS
(Discounted pay-back period)
(B) wreredi &5 29 (Internal rate of

return)

(C) feotzmeeia fRGI9 219 (Accounting rate

of return)
(D) =@l 7o< (Profitability index)

37. IM G @A sTepiol AnieTs SEoe
70% =3, [fvcaeem $ok oM 23 15% @R e
QA B T 12%, 02 Jad 21K T 263 THhw ?

(A) 45%
(B) 5-6%
(C) 8:4%
(D) 10-5%

38. (IR IO ©§ WP, TIAR LR
Gy, G0 e (<13 2w 2o
(A) 43 AT oA (Retained earnings)
(B) @19 %41 514+ (Borrowed capital)
(C) 23921 Je74= 2535 (Equity capital issue)

(D) TR g T @R 40 A 9w
Tewig (Both equity capital and retained

earnings)

39. 36 wIcla wriEf: freias ak wifds
fereitae (Financial leverage) I 3 @38 2 | TM
@ 5% e #A17, ©r=Ce G weel o Fe i
A ?

(A) 30%
B) 18%
O 12%
(D) 36%
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40. To mitigate crisis out of the breakdown of
the Bretton Woods system, the Smithsonian
Agreement was inked by the world’s leading trading
countries called as

(A) Group of Seven
(B) Group of Eight
(C) Group of Ten
(D) Group of Twenty

41. The Poisson distribution has
(A) one parameter
(B) two parameters
(C) three parameters
(D) four parameters

42. If the value of the simple correlation
coefficient between two variables xand y is r==1,
we have

(A) only one regression line.
(B) only two regression lines.
(C) only three regression lines.
(D) no regression line.

43. For comparing the independence of two
attributes we use

(A) Binomial distribution

(B) Standard normal distibution
(C) Poisson distribution

(D) XZ distribution

44. For comparing the variability of two or
more sets of observations expressed in different
units, we recommend

(A) Mean Absolute Deviation
(B) Range

(C) Co-efficient of variation
(D) Standard Deviation
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40. &67 TON Tmiod ©ie (A TES IFG
AT T [T ST SIeeifos Sz
oiefera Ny @ FaLenfRe e areie arfe,
o e AAfafoe e

(A) b @ ot
(B) =G @it (alid
(C) WIS (TeeI=r oD
(D) =6 @i calrd

41. I+ (Poisson) IS SNZ
(A) @3 25fioE (parameter)
(B) ¥ #irRifiGE (parameter)
(C) fe=ifs “=IfSGR (parameter)
(D) 5 “F=IfGE (parameter)

42. x €3R y U GAEA (FFCE AT (PIREMIF-93
A AW 7 = +1 2, OIRCE SAN@E AR

(A) <6 TG e wiEa

(B) 4ft g e #1izs

(C) Toaft g faeaia =1izs

(D) @I e iz A 1

43. 9 attribute-43 =l (independence)
O A S SR AR B

(A) FEEI™IE 967 (Binomial
distribution)

(B) GIEIT 791e1 996+ (Standard normal
distibution)

(C) i1 35+ (Poisson distribution)
(D) i3 et a5+ (2 distribution)

44. 7o arecolfas A FEF (observation) fafes
93 2RO 7fl AT STl ARl SRS ieTe!
T AN Gl S ol R

(A) S @IENESS Efew@=a (Mean
Absolute Deviation)

(B) wNif&<s #Ifz1a (Range)

(€) @-afFhEs o7 o™+ (Co-
efficient of variation)

(D) W< fAp5f® (Standard Deviation)
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45. Suppose the co-efficient of skewness is
—0-375, arithmetic mean = 62 and median = 65.
The value of the standard deviation will be

(A) 16
B) 18
©) 22
(D) 24

46. A bag contains 7 red and 4 blue balls. Two
balls are drawn at random with replacement. The
probability of getting the balls of different colours
is

28

A) =2
()121

56
B) —
()121

©

N | =

D)

47. The mean and standard deviation of a set of
values are 10 and 4 respectively. If 10 is added to
each value, then the value of the coefficient of
variation in the new set of values will be

(A) 10
B) 30
©) 40
D) 20
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45. N T, Toddem A2l (co-efficient of
skewness) T& — 0-375, alifdfes o =& 62 @3
ST 21 65 | GG 751G (CSEIE (standard
deviation) W< &

(A) 16
(B) 18
©) 22
(D) 24

46. < A7ies! 7 T o1e1 @ 4 T FieT o7 =itz | ¢4
(XS ATl g6 7@ with replacement (1T & |
qrFeq Jfeq 067 391 “NeTF ASR_E TR

28

A) =2
()121

56

B) —
()121

©

N | =

D)

47. & (16 21w e (observation) 91G 8 e
#1195 (mean and standard deviation) TG 10
@ 4| I AfSTs S 0t 10 @9 21 27, Oe @
IO (16 AN AN OIS OO HRLA M =

(A) 10
(B) 30
(©) 40
(D) 20
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48. You are given the following observations:
55, 59, 79, 56, 86, 97, 56, 99,
101, 125, 55, 259, 56, 322, 389, 66,
56, 222, 112, 87, 56, 97, 86, 95,
34, 86, 56, 98, 55, 101, 53, 105.

The mode of the above observations will be

(A) 389

(B) 34

(C) 56

(D) 222

49. For which theoretical distribution,
Mean = Variance?

(A) Standard normal distribution
(B) Poisson distribution

(C) Binomial distribution

(D) Normal distribution

50. Forperfectdisagreementbetween two series
of ranks, the value of the rank correlation coefficient
will be

A) +1
B) 0

<G -1
(D) 05

51. How does “Esprit de Corps” impact an
organisation?
(A) It leads to increased employee
turnover.

(B) It hinders effective communication
among team members.

(C) It fosters team work in the
organisation.

(D) It improves individualistic spirit to
enhance productivity.

48. W%@‘»’{W‘T (observation) (ST IR,
SRR (observation) 27

55, 59, 79, 56, 86, 97, 56, 99,
101, 125, 55, 259, 56, 322, 389, 66,
56, 222, 112, 87, 56, 97, 86, 95,
34, 86, 56, 98, 55, 101, 53, 105.

ALEFASENT (T (mode )47 e 20 2
(A) 389

(B) 34

(©) 56

(D) 222

49. (19 ©ifgF BT Fg (Theoretical
Distribution) %@ = SpifF7™ (Mean = Variance) ?
(A) 2bfeTe (s 6+ (Standard normal
distribution)
(B) i3 35+ (Poisson distribution)
(C) faa® 35 (Binomial distribution)
(D) eI 36+ (Normal distribution)

50. w5 wiw Hifscea =i sprafes = (for
perfect disagreement between two series of ranks)
[T FIREE 7= T (the value of the rank
correlation coefficient) 1

A +1
(B) 0

© -1
(D) 05

51. “Esprit de Corps” Fei@ AfSHNE= T
Sl (T 2

(A) G99 F(eT FA GIET (Employee
turnover) qf%? AT |

(B) 5!V AV N PR (RSN
BINEGEN

(C) 95! 2Af DA FeIoloeiE FE FAE
TeARS A |

(D) el ATCe « Bl FfeTed

i35 SFe I |
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52. For the following statements of
Assertion (A) and Reason (R), indicate the correct
code:

Assertion (A) : Unity of Command is an
important principle of
management.

Reason (R)  : Unity of Command ensures
that each employee reports
to only one supervisor, thus
avoiding confusion.

Codes:

(A) Both (A) and (R) are correct, and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is
not the correct explanation of (A).

(C) (A)is correct, but (R) is incorrect.

(D) (A) is incorrect, but (R) is correct.

53. Span of Control refers to

(A) thenumber of organisational hierarchy
a manager supervises.

(B) thenumber of subordinates amanager
directly supervises.

(C) the width of the organisation’s
physical work space.

(D) the level of control exercised by top-
level executives.

54. Which set of the statement is correct?
The purpose of delegation of authority is
(1) to establish a hierarchical structure.
(i1) to enhance employee efficiency.

(iii) to increase employee morale and
motivation.

(iv) toform an indirect system of centralised
decision making.

Codes:

(A) (i) and (ii)

(B) (ii) and (iii)
(C) (i) and (i)
(D) (iv) and (i)
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52. 63 ISIYETR T [IO(A) 9% F&(R)
@S Iz | AT (FIes! Hizre e 3
RS (A) 2 ST 9] AR 96!
gl Ao |
2 W el FHFe® T @
AT o | o] T TG
(supervisor )-(F RS e
G3R GBI Ao [eifE
ol |

3fe (R)

(RPITTIZ ¢

(A) (A) € (R) Terz 5, @’ (R) =
(A)-93 I A |

(B) (A)€(R)Tewz s, @ (R), (A)-47
A(OF g T |

(C) (A) o=, &% (R) wa1|

(D) (A) v=, e (R) 75 |

53. Span of Control 9=1¢9 (I
(A) GG JIZHAT T MAF AT
qi7l oGyl FCIH |
(B) A5G BT T© AT LB FRAH
AR T I |
(C) ARSI AT FARAES 243 |
(D) T PRICa A Scaifee feraee |

54. 1 R3fex Goo AF 2
oY AR Sl 27 2
(i) SRR Tl 2wt 41|
(ii) el Ifa Tt |
(iii) SR AR @ Seraelt Jia 41 |
(iv) FEIgs Pralg ez Siee™ U7 (o
i
T S
(A) (i) 93 (ii)
(B) (ii) @=® (iii)
(C) (iii) @R (i)
(D) (iv) 9% (i)
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55. Leadership is best defined as

(A) the ability to exert control and
authority over others.

(B) the process of giving orders and
instructions to subordinates.

(C) theability tomotivate and guide others
towards achieving a common goal.

(D) the formal position or title held by
individuals in an organisation.

56. Whatis the main objective of compensation
management in an organisation?
(A) To increase profitability
(B) To control labour costs
(C) To attract and retain talented
employees
(D) To comply with legal regulations

57. Which among the following is one of the
primary roles of human resource management in
an organisation?

(A) Developing marketing strategies

(B) Managing financial operations

(C) Ensuring compliance with legal
regulations

(D) Overseeing production and operations

58. Identify the incorrect option from the

following:

360 degree performance appraisal consists
of:

(A) self-evaluation.

(B) evaluation by family members.

(C) evaluation by subordinate.

(D) evaluation by colleagues.

55. (TOUEH AT ©IGaT! KT T

(A) ST Tl fmEd ¢ 9 @R
! |

(B) S SNl @ faist (reda alfe |

(C) A1 T SIS (14 Grel) STy Sy 2lifers
@ s ot (Guide) 41 |

(D) 2feRia W e S om
(formal position) i BI2C5e (title) |

56. @I 2SR W%"B.I‘-T (compensation)
JIZIATT 24 Sl F 2
(A) I SEerwTel Ja T4
(B) 1 k&g 5% fzrgel w4
(C) afcere S5 Sisds 541 @ e Al
(D) I3 e ey ol

57. (I ARSI A Ao GIZAT SO
AT TP o RFASETR & Il 2
(A) Rt F Cofd a1
(B) e Fi<etsl sifamiern <
(C) =iz s et fAf*se F<t
(D) TeAWe @ ARG TGk F1

58. Aitos REsEta Sy ool biere e 2
360 o2l FET=ive e, @ REseE
fac sifde:
(A) T
(B) ARG 370 ==l Feniae
(C) w1 S =l R
(D) T2FIT =R eI
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59. Which of the following statements are
incorrect?

In theory of attitude, cognitive dissonance
arises when

(i) two personalities are not aligned to each
other.

(i1) twoattitudes of a person are inconsistent.

(i11) attitude and behaviour of an individual
are inconsistent.

(iv) twobehaviours of a person are consistent.
Codes:
(A) (i) and (ii)
(B) (ii) and (iii)
(C) (i) and (iv)
(D) (iv) and (i)

60. Organisational culture refers to

(A) the behavioural diversity in the
workplace.

(B) thesetofrulesand policies governing
employee behaviour.

(C) the shared values and beliefs within
an organisation.

(D) the organisational hierarchy and
reporting structure.

61. Alessliquid market index is one where the
impact cost of buying or selling the entire index is

(A) high
(B) low
(C) moderate
(D) zero

X-18

59. [IHF (@ RYfowe SpTe) ?
Attitude-9< 9(g, cognitive dissonance-4s
Teq 2 T4
() 72 Ifeg *FE37 &f® A<IE (aligned)
BEl
(i) «F IfET WRET PG Ao
(attitude) |
(iii) PIT WG MG € S5 A}l
20|
(iv) @I IfET Paaea Spae el
20|
(1o
(A) (1) 9=R (i)
(B) (i) @R (iii)
(C) (iii) @R (iv)
(D) (@v) @R (1)

60. 2iifovifess A TCe @RI
(A) TG 65T Ay |
(B) FEromgel #Afplers &oy fas-aifowsz |

(C) @I 2SI e SR @ g
S TR A Ol T4 |

(D) 2SN S G3R AT T |

61. <3 less liquid market index-9% (3¢a 7J7a1
index-G! (¥ I (IGIF impact cost
|

(A)

(B) =%

(C) TR (moderate)
(D) 7 (zero)



62. Given below are two statements, one is (A)
and the other is (R):

(A) : General insurance provides
coverage for losses and
damages to assets and
properties.

(R) : General insurance does not
cover any type of non-
tangible assets.

Choose the correct option:

(A) Both (A) and (R) are true.
(B) Both (A) and (R) are false.
(C) (A)is true, but (R) is false.
(D) (A)is false, but (R) is true.

63. In ,the Capital Issues (Control)
Act was formed and it played an important role in
the functioning of the Indian Capital Market.

(A) 1934
(B) 1947
(©) 1972
(D) 1974

64. The Central Bank in India is governed by
the

(A) State Government

(B) Central as well as State Governments
(C) Central Government

(D) World Bank

65. do not accept deposits from
the public.

(A) Commercial banks

(B) Development banks and Commercial
banks

(C) Development banks
(D) Rural banks

X-19
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62. S uib [ oreal =71, @3 =1 (A) ==
@36 7 (R) ¢
(A) 2 AFe A ToM @3 Tife
Fod G FOIEE 2l I |
(R) ¢ “4IFe M (FIl 4=
AT Ao eI I N |
5 Tt 4o T ¢
(A) (A) 93 (R) 762 0% |
(B) (A) 932 (R) @ItIb2 AfoF =13 |
(C) (A) M, (R) 71f6= =31
(D) (A) 73 =31, (R) A= |

63. AT Capital Issues (Control)
Act (o8 =¥ @R @ ©IF0ed Capital Market-a3
SIS CFea wwgs)d Gl oIem G |

(A) 1934
(B) 1947
(C) 1972
(D) 1974

64. SIF0oT (TR A NoTF e
(A) ey AIFID

(B) (@R T IR A FAIFIA
(C) @@ AIFI
(D) World Bank

65. GRS (AP DABITO (I
Il

(A) ififerss AikF (Commercial banks)

(B) T3« it 9z qifafens aiss
(Development banks and Commercial
banks)

(C) TF3 1S (Development banks)
(D) 29 A7ikF (Rural banks)
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66. Lump suminvestmentplan follows asingle
payment mode as

(A) one-time investment

(B) many-time investment at fixed
intervals of time

(C) one-time investment and many-time
investment at fixed intervals of time

(D) many-time investment

67. Money market in India is mainly regulated
by .
(A) the SEBI
(B) the IRDA
(C) the NABARD
(D) the RBI

68. According to the SEBI, the spread between
the floor and the cap of the price band shall not be
more than

(A) 20%
(B) 10%
(C) 30%
(D) 5%

69. Inanissue made through the Book building
process, the allocation in the net offer to public
category shall not be less than to
Non-Institutional Investors.

(A) 45%
(B) 55%
©) 15%
(D) 25%

70. RTGS stands for .
(A) Real Turn Gross Settlement
(B) Real Time Gross Settlement
(C) Real Technique Gross Settlement
(D) Real Towards Gross Settlement
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66. 25 lump sum R & EE
CFCq AR S |
(A) @FFIa  fafac@ist (one-time
investment)

(B) ff1® Tyauie Izaiw [KiFas

(C) e [fcs g [we e
T2 [fvcs

(D) 337 [t

67. ST Y4TO
g 3|
(A) the SEBI
(B) the IRDA
(C) the NABARD
(D) the RBI

money market

68. SEBI W@, price band-9< floor €<} cap

price-4< Yl -3 @ ze v
BRIl

(A) 20%

(B) 10%

(C) 30%

(D) 5%

69. Book building process SEPRe IR G0
issue-C, public category-® net offer-43 =ifsid,
non-institutional investors-(d offer-4d AR

R T 2(q 1|
(A) 45%
(B) 55%
©) 15%
D) 25%

70. RTGS it |
(A) Real Turn Gross Settlement
(B) Real Time Gross Settlement
(C) Real Technique Gross Settlement
(D) Real Towards Gross Settlement
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71. Which type of conflict occurs between
different levels of the same Marketing Channel?

(A) Horizontal Conflict
(B) Vertical Conflict

(C) Channel Conflict
(D) Intermediary Conflict

72. Psychographic segmentation is based on
(A) Geographic Location
(B) Social Class
(C) Gender
(D) Income Level

73. In which stage of the product life-cycle, do
profits fall even through the sales volume rises?
(A) Growth
(B) Introduction
(C) Decline
(D) Maturity

74. What is Premium Pricing as a Pricing
Strategy?

(A) Setting prices based on competitors’
prices

(B) Setting prices based on perceived
customer value

(C) Setting high prices to reflect the
premium quality or exclusivity of the
product

(D) Setting prices based on the costs of
production and distribution

75. What is the purpose of loyalty programs in
promotion?

(A) To offer rewards and incentives to
retain and incentivize loyal customers

(B) To provide information and create
awareness about products

(C) Todirectly sell products to customers
(D) Toengageinpersonal selling activities

06-11

71. 43 AFOR OIEEE [Ffey w@a S @
FTE TG G 2

(A) STl 7%
(B) T#¥ 7%

(C) BITe 7%

(D) TGO 7%

72. ARAREE FNECTH TS F
(A) COToNfers Sge
(B) wAnIIfE=s cxifel
(C) for
(D) SIS ¥

73. SR GREbCER @i A, e s
qQOETS oM [N A2
(A) 3@ (Growth)
(B) &&= (Introduction)
(C) 2P (Decline)
(D) sifs#i@el (Maturity)

74. =T iR (FE o wikee 3o

(A) st mieE Sow fefe s 7w
[BRERE

(B) SITS AlTF JENH T2 fefe w61 T
[BRERE

(C) #itepa fafSm waww @ Fagre
eifwfore Sace Twen e w1

(D) TesAve @ Reqeed 1Amd 87 fofe
3 v fdiae s

75. B oSy (RAIAT Sl F 2
(A) S5O AT 4 AT G3R TIfRe
AR G AT AR 2N A7l 1

(B) ©2 27ie G2 7ol T=9{(F AGOTo! (i
341

(C) &ieFmd Fitg JAME s [ Fa1
(D) afesrs Rew Ffem fge w1
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76. Which of the following is a channel
management strategy that involves adding new
channel partners to reach Untapped Markets?

(A) Channel Integration
(B) Channel Conflict

(C) Channel Consolidation
(D) Channel Expansion

77. Which of the following is an example of an
internal factor influencing consumer buying
decisions?

(A) Social Influence
(B) Cultural Norms
(C) Personal Income
(D) Advertising Messages

78. What is service differentiation?

(A) Offering the same services as
competitors at a lower price

(B) Providing unique and superior
services compared to competitors

(C) Changing the pricing strategy for
services

(D) Focusingon physical product features
in service marketing

79. What is the purpose of Social Media
Marketing in Online Marketing?

(A) Todirectly sell products to customers

(B) Toleverage social media platforms to
promote products and engage with
customers

(C) To determine the pricing strategies
for products and services

(D) To engage in search engine
optimization (SEO)

80. The inputs to a transformation process
include all of the following except

(A) material
(B) information
(C) assembly
(D) people
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76. BT @0 G WIESED @
SRS AR PRI Gy el BICaT SRR
TG I ?

(A) BIICeT B
(B) BICIeT 2%

(C) BN «aeael
(D) TyItsIsT 2P

77. NEA @ET G0 STerEqe I S

QM (ST @ P&t eroiie w2
(A) AT 2oR
(B) Acgfes fmm
(C) i =g
(D) Re=isi ars

78. SRR FjLFFRe F 2

(A) 3 i AfSINTR Noo! 992 A7t
2RI 1

(B) efSTaINma Tem Swey @R THHed
AR 2wl 1

(C) IR Ty #Atelrs 3o (e 2/ e

(D) AR Rt AR 7ol (AT ferce
(FHgS T

79. SEES 0L EEe ffen -9
Ty 2
(A) ATFME Fitg AP 2oy i w1
(B) e e anbwaefes e
BRSO G3R ARFME A Toe

26T G A9 T
(C) oy @R AREIF Ty o Fdfaem
e e 1

(D) =16 3fg pores=el (SEO) Fige

80. «=b FoNe eifera Fwfafie Tvbafa g
@0 TCTE 77 ?
(A) Toimis
(B) ©
(C) =t
(D) WA
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81. A contract is discharged by supervening
impossibility under which of the following
situation?

(i) Destruction of subject matter
(ii) Death or disablement of parties
(i11) Rescission
(iv) Remission
(v) Accord and satisfaction
Codes:
(A) (i), (iii) and (iv) only
(B) (i) and (ii) only
(C) (i), (ii) and (v) only
(D) (ii) and (iv) only

82. Which is not an essential element of a
contract of bailment?

(A) Purchase of goods

(B) Doing contract

(C) Delivery of goods

(D) Return of goods in specific time

83. The right of lien is available to the unpaid
sellers only when

(A) he is not in the possession of the
goods.

(B) hehasdelivered the goods to the buyer.
(C) he is in possession of the goods.

(D) he has delivered the goods to the
carrier/transporter.

84. Countermanding of a cheque is also known
as
(A) Cancellation
(B) Dishonour
(C) Payment through counter
(D) Stop payment
85. Which of the following company is
exempted from calling AGM?
(A) Public Company limited by shares
(B) Public Company limited by guarantee
(C) Private Company
(D) One Person Company
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81. FHfTie @ ifFRfsre Srerre SR
(Supervening Impossibility) ¥ 43 e Aifos
A 2?2

() e 8 2ewl
(i) (PIEA #ICwF< g A STl
(iii) %1 41 (Rescission)
(iv) W< (Remission)
(v) BfE @k el
(PIos
(A) (), (i11) 4R (iv)
(B) (1) @R (i1)
(©) (i), (i) 93 (v)
(D) (@i1) bR (iv)
82. (I T piear wioifarzd T a2
(A) 7 &F
(B) tfe s
(C) oIy ezl
(D) g A stoy (e

83. SmWIR fReFea it FiaEs wfawia ofent
A, GG T2
(A) T oAel] O WA 12|
(B) =TS (o itz sto colrz freaeas |
(C) T A9y Ol W& IR |

(D) T Tof #ay oifqazail/ A2 Ficz
(sTfee meees |

84. (5 IITHERMIER =T &I A “ffow 2
(A) Afomael
(B) SPTHIF
(C) ISR M T2l
(D) (TG Il

85. Ao (@I @A RS e o S
T4 (A SRS e 2
(A) *ITF == A AR @

(B) iR 7t Afre #kfers @i
(C) 2Tt @A
(D) @< Fyfe @i
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86. ALLPis

(A) not a separate entity from that of its
partners.

(B) alegal entity separate from that of its
partners.

(C) abody corporate.
(D) Only (B) and (C) are correct

87. Which of the following as per the
Competition Act, 2002 refers to any agreement
requiring a purchaser of goods, as a condition of
such purchase to purchase some other goods?

(A) Exclusive distribution agreement
(B) Refuse to deal

(C) Tie-in agreement

(D) Not to sale

88. Any person who, on behalf of another
person, receives, stores or transmits a message is,
under the IT Act, known as

(A) Intermediary

(B) Originator’s agent
(C) Addressee

(D) Keyholder

89. Trademark law protects
(A) only brand names.

(B) words, symbol or devices that
differentiates goods or services from
one another.

(C) names of specific people and places.

(D) invention that feature some sort of
utility function.

90. The first committee to design GST model
was headed by

(A) Vijay Kelkar
(B) Asim Dasgupta
(C) P. Chidambaram
(D) Raghuram Rajan

X-24

86. <= SAifvre wiw sikAmifag =&
(A) G (I 2 el 7 T SRAMTT
CC STeTvl |

(B) @< 13 7@ T O SRR (A
e |

(C) 96 3f® Tl |
(D) wgig (B) € (C) AlS

87. IfIfbxia =g, 2002 SFEE [Ha @0
G (I B @RI @A Ao TR @
YA TR *1S 2N e g @1 3909 232

(A) 9FGOI 30 pie
(B) Bf& T4 TFIFwA
(C) 5723 (Tie-in) 3f&
(D) faf&F T2 ooy 7w

88. @ If& o7y ¥F JTET ATF AS! 429 FE,
FYEE FCE Al (24 I, =iz T wiiza wHkie fof
J P Affoe e

(A) SO

(B) 2SR ATETH

(C) AcTI=FI!

(D) ¥417F (Keyholder)

89. GUNIF iz T
(A) YT LIS I |
(B) *I, 2SIz 11 T&wiea Tl 7o) A AR
G AR (A A |
(C) Fifve arfe e Ziea a1
(D) @ @I T TSGR 9 SHAN
JFFI! IAZ |

90. GST SIwe eI 2N FRMH (Tore o
(A) e @R

(B) SN W%
(C) fol. fov=aw
(D) S e
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91. Previousyearitself becomes the Assessment
Year in case of

(A) Going Concern Business

(B) Bodies formed for short duration
(C) Income from speculative source
(D) Natural calamity in a year

92. Q Ltd. started a business in a SEZ during
2009-10. Profit of the business is ¥ 20,00,000,
exportsales 30,00,000 and local sales % 10,00,000.
What will be the minimum amount that required to
be transferred to SEZ Re-investment Allowance
Reserve Account in order to avail the full benefit
under Section 10AA for the Assessment Year
2023-24?

(A) ¥ 15,00,000
B) ¥7,50,000
(C) ¥20,00,000
(D) ¥ 8,75,000

93. On 7.9.15 ABCD Ltd. purchased listed
equity shares of CD Ltd. for ¥ 2,00,000. AB Ltd.
wishes to sell the shares during 2022-23 for
%4,50,000 after paying STT. Fair Market Value of
shareson 31.01.18 was ¥ 2,20,000. The amount of
Long Term Capital Gain on which tax is payable

(A) ¥2,30,000
(B) ¥2,50,000
(C) % 1,30,000
(D) Nil

94. EF Ltd. paid 2nd instalment of advance tax
on 13.09.22. Such act may be considered as

(A) Tax Planning
(B) Tax Avoidance
(C) Tax Management
(D) Tax Evasion
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91. Previous year-03 Assessment Year 2
[

(A) DT ST R

(B) & @S &= 50 AR (FC
(C) FILH JFS F 9

(D) @INe IR 2o iR Cwea

92. QLtd. 2009-10 A SEZ-9 &30 53| w2k
FE | FIARF JAw 20,00,000 T, q@ifS [
30,00,000 Si=1, ZINE &&= 10,00,000 511 | SEZ

Re-investment Allowance Reserve Account-¢
Section 10A A7 375j¢ A A1\ &ty ool F©
BIF 2023-24 Assessment Year-9 BHI€d FACO
3] ?

(A) 15,00,000 Gl

(B) 7,50,000 Gt

(C) 20,00,000 Gt

(D) 8,75,000 GiFl

93. 7.9.15 ©Ifitd ABCD Ltd.-93 wifeimige
(listed) 33536 (=T 2,00,000 SR T1 AT |
AB Ltd. 2022-23 94 STT 2WitI4 7t @ (<aaafe
4,50,000 BT i Sace 51 131.01.18 ©ifFed @
CRIRSfeTE Ry e o 2 2,20,000 G|
eI Yo Aces @ A SE Sew 39
A, ©f TR

(A) 2,30,000 Gl
(B) 2,50,000 Gt
(C) 1,30,000 Gt
(D) Nil

94. EF Ltd. 13.09.22 @ifqca wifaw s faom
78 #ifaeeiiy FCa0= | G 4R IS I (@O AT
(A) T3 g
(B) 3% #3727 (Tax Avoidance)
(C) == Il
(D) ¥3 #ifF
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95. M Ltd. sold a machine which was used for
in-house scientific research. Tax implications of
such transactions:

(A) There will be balancing charge only.

(B) There will arise terminal depreciation
only.

(C) Therewill arise capital gains/loss only.

(D) There will arise both (A) and (C)
simultaneously.

96. Transfer of asset, under a scheme of
amalgamation, from amalgamating company to
amalgamated company would attract capital gains
if

(A) transferor company is an Indian
company.

(B) transferee company is an Indian
company.

(C) transferee company is a foreign
company.

(D) transferor company is a foreign
company.

97. A acquired a capital asset at a cost of
% 70,000 and gifted the same to B after one year.
Market value of the asset on the date of making the
giftis¥ 85,000. B sold the asset in the next year for
< 90,000. Capital Gains for B

(A) ¥90,000
(B) 70,000
(C) 20,000
(D) % 15,000
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95. M Ltd. 930 @i Rerw a0z a1 Sreredd
SRR Tl IO 2 | 93 (A FTHIES GGG
(A) ®¥Eg Balancing Charge-93 ©& 3 |
(B) ®41lg Terminal Depreciation 2(< |
(C) ST 4! eTe/Fo 2 |
(D) €2 AN (A) 4R (C) ToEH2 Ted
BIGl

96. CFAFACE I AFEF T, GFGIIE
@iifd (Amalgamating Company) (A& 4Faqe
@A77 (Amalgamated Company) J=wd
TR [ a1 (Capital Gains) S T,
T

(A) TBITIFIT &= (Transferor
company) S = 27 |

(B) TVIGEF 22®! (Transferee) (=N
SIS I 2 |

(C) TBEIFACR Ae! @~ i
RIS 23 |

(D) =& =il afn Kl rsiife
R0

97. A ¢ Slfm—fﬁ 1=9(f@ (capital asset) 70,000
Bil frca 0 SCafet ©3R O F 23 2IF G2 T7Ife B-
& Golgla elee | Soieas e sTvifelbe ares e
f251 85,000 GIFF | B #Itad 922 90,000 5= (R
Tife fafe a5 | B-93 W&‘iﬁ &1 (Capital Gains)
B

(A) 90,000 Gi=sl
(B) 70,000 Gizsl
(C) 20,000 Gi=el
(D) 15,000 Gi=sl
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98. An assessee donated ¥ 50,000 to National
Relief Fund of the Central Government and
330,000 to Prime Minister’s Drought Relief Fund.
Gross Total Income of the assessee is T 6,75,000.
Taxable Income of the assessee on the basis of
above information only is

(A) 6,10,000
B) ¥6,55,000
(C) ¥6,20,000
(D) % 6,90,000

99. Which ITR formis not applicable in case of
an individual assessee?
(A) ITR-3
(B) ITR-6
(C) ITR-2
(D) ITR-4

100. V,anordinarily resident earns income from
profession in India ¥ 10,50,000 and income from
profession in Zambia (with whom Govt. of India
has no double taxation avoidance agreement) of
<7,50,000 in terms of Indian currency. Tax paid in
Zambia ¥ 75,000 in terms of Indian currency.
Average rate of tax payable by V in India is
16:26%. V can claim relief under section 91 to the
extent of:

(A) ¥ 1,80,000
(B) ¥ 1,21,950
(C) 75,000

(D) ¥2,62,980
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98. TG Assessee e (FET ATHIET Tl
Qi ©2[eE 50,000 Bl @2 2LiewaE 4d qre
O 30,000 B Wi FERE | T-93 (N6 @I
(Gross Total Income) 6,75,000 516 | ¢431g &7IHCE
S TR fefe @, T-93 FA9 (Taxable
Income) 2(I

(A) 6,10,000 Bt
(B) 6,55,000 Gt
(C) 6,20,000 B
(D) 6,90,000 Bl

99, Individual Assessee-3 (g (i ITR
acrey 4372
(A) ITR-3
(B) ITR-6
(C) ITR-2
(D) ITR-4

100. V «3ee A7 A (Ordinarily Resident)
CRCS (P (A W FEE 10,50,000 Tl @3]
GIHACS (oMl (TF ST (T AN e (@S
ol ¥ #If?=@9 (Taxation Avoidance) &
(12) SIOR @I A &1 7,50,000 51 @R €4 €77
T e TS 75,000 BIF | OIS V A1 A
IED M T Z 16:26% |V, ITHES 91 il
SRR FEF @ s 3k (Relief) wIS FC9
2, O 26T

(A) 1,80,000 SR
(B) 1,21,950 5i=I5
(C) 75,000 SR

(D) 2,62,980 G
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